Svegs BK

Onsdag 2022-09-14

Partavling, 5 bord, 10 par. Antal brickor: 24. Medel: 96.0.

Plac Par Poang % Namn MID Klubb
1 6 125 65.10 Pelle Persson - Gun-Britt Persson 78898 86757 Svegs BK
2 4 109 56.77  Christina Westberg - Elving Forsstrom 15382 6208  Svegs BK
3 10 108 56.25 Randi Rosnés - Bengt Ostman 78903 78901 Svegs BK
4 3 103 53.65  Gun Hallgren - Roger Olofsson 65070 49483 Svegs BK - BK Viva
5 5 101 52.60 Ann-Kristin Olofsson - Peter Lindstrand 78892 26390 Svegs BK - Hede-Vemdalen BK
5 9 101 52.60 Lennart Karlsson - Sussanne Jarvinen 7084 65083 Svegs BK
7 1 96 50.00 Lennart Fyhr - Ingegerd Johansson 5966 6135 Hede-Vemdalen BK
8 7 87 45.31  Anneli Stenberg - Sonja Proos 83306 18122 Svegs BK
9 8 76 39.58 Sdren Borne - Kerstin Sjoberg 65067 65069 Svegs BK
10 2 54 28.13  Chatrine Norrbelius - Ingrid Eriksson 42037 68816 Svegs BK
1 Nord Ingen 2 Ost NS 3 Syd OV 4 Vast Alla
Par Kontr Ut Res Poang | Par Kontr Ut Res Poang | Par Kontr Ut Res Poang | Par Kontr Ut Res Poang
65 44 O-1 #A 50 8.00.0| 47 3NN+1 47 630 6.020| 65 4¢vN= 47 420 7.01.0|58 2#S+1 +2 110 8.00.0
83 2NS-1 vJ 50 602092 3NN+1 ¢4 630 6.020| 92 4vyN= 2 420 7.010(102 2vV-1 T 100 6.020
92 29 0= #A -110 4040(101 3NN+1 vJ 630 6.020| 47 29 N+3 ¢7 200 3.050( 76 2¢ V= &T -90 4.0 4.0
47 340= #J -140 1.07.0| 65 3NN= &5 600 2060|101 3y N+2 4Q 200 3050 13 2¢ V+1 T -110 2.0 6.0
101 34 0= #A -140 107.0| 83 3vV-3 v3 150 0080| 83 3y N= ¢5 140 0080( 94 34 0= «#K -140 0.08.0
5 Nord NS 6 Ost OV 7 Syd Alla 8 Vst Ingen
Par  Kontr Ut Res Poang | Par Kontr Ut Res Poang | Par Kontr Ut Res Poang | Par Kontr Ut Res Poang
58 INN+1 #6 120 8.000| 13 44 N-1 T -50 6.02.0(|103 2vy S= 42 110 800.0| 15 2¢ O= ¢J -90 8.0 0.0
94 INN= v4 90 6020| 58 44 N-1 ¢A -50 6020( 87 2vS-1 #K -100 6.020| 69 2¢ O+1 «Q -110 4.0 4.0
13 2¢vN-1 46 -100 2.06.0(102 54 N-1 ¢A -50 6.020( 69 3#0= oA -110 404.0| 87 2¢ O+1 #8 -110 4.0 4.0
76 INN-1 #6 -100 2060 76 54 N-2 ¢A -100 206.0| 15 2NV= ¢4 -120 206.0(103 3¢ O= #Q -110 4.0 4.0
102 INN-1 #3 -100 206.0| 94 54S-3 4A -150 0080 24 2¢yDS-1#K -200 0080( 24 2vV+1l «A -140 0.0 8.0
9 Nord OV 10 Ost Alla 11 Syd Ingen 12 Vast NS
Par  Kontr ut Res Poang | Par Kontr ut Res Poang | Par Kontr ut Res Poang | Par Kontr ut Res Poang
69 34 0-1 #9 100 8.00.0| 98 2¢ N+1 vK 110 8.00.0|104 44 O-1 46 50 8.00.0| 71 4vDN=45 790 8.00.0
15 Pass 4040|104 4v O-1 &K 100 6.02.0| 98 14 O+1 «K -110 6.02.0(104 2v N+1 45 140 6.0 2.0
8 7 Pass 4040 26 2vV= 44 -110 3050| 35 34 O= #J -140 3050| 35 2¢v N= 45 110 4.04.0
10 3 Pass 4040 71 2vV= ¢2 -110 3050| 71 340= T -140 3.050| 26 5¢ O-2 #«A 100 1.07.0
24 24 O= %2 -110 0080| 35 1vyV+3 45 -170 008.0| 26 44 O+1 &#J -450 0.080| 98 1aV-2 ¢J 100 1.07.0
13 Nord Alla 14 Ost Ingen 15 Syd NS 16 Vast OV
Par  Kontr Ut Res Poang | Par Kontr Ut Res Poang | Par Kontr Ut Res Poang | Par Kontr Ut Res Poang
82 INS+1 v9 120 8000| 19 44V-2 ¢8 100 800.0| 37 4v V-2 T 100 5030| 48 44V-2 vA 200 7.010
19 3#S= vA 110 5030 37 34V= ¢2 -140 4040( 46 4vV-2 #J 100 5030|933 44V-2 &#J 200 7.01.0
37 24 S= #&#A 110 5030| 46 24V+1 ¢2 -140 404.0| 82 3NV-2 #8 100 503021 3NV= ¥4 -600 3.05.0
105 3#S-1 vA -100 206.0| 82 34 V= &J -140 4040|105 4v V-2 4K 100 5030|57 3NV= ¥8 -600 3.050
46 44 S-2 #A -200 0.08.0|105 24 O+2 vA -170 0.080| 19 3vV-1 4K 50 0080(106 3NV+2 ¢2 -660 0.0 8.0
17 Nord Ingen 18 Ost NS 19 Syd OV 20 Vast Alla
Par Kontr Ut Res Poang | Par Kontr Ut Res Poang | Par Kontr Ut Res Poang | Par Kontr Ut Res Poang
48 INS+3 3 180 7.010| 48 4vyN+1 #2 650 8000| 32 3NS+1 #2 430 7010(107 3NN= &5 600 8.0 0.0
106 INS+3 3 180 7.01.0| 57 4vyN= 4K 620 4040( 59 3NS+1 #9 430 7010 68 2¢ N+4 «2 170 6.0 2.0
93 3#N+2 ¢J 150 4040|933 49 N= «Q 620 404.0| 14 3NN= &7 400 2060| 14 3¢ N+2 v4 150 4.04.0
57 3#N+1 ¢7 130 2060|106 4v N= &K 620 4040 68 3NN= 3 400 206.0| 32 44S-1 T -100 2.06.0
21 2¢ V-2 #A 100 0080| 21 4vN-1 oK -100 0.08.0|/107 3NN= 9 400 2060| 59 3NS-2 v8 -200 0.0 8.0
21 Nord NS 22 Ost OV 23 Syd Alla 24 Vast Ingen
Par Kontr ut Res Poang | Par Kontr ut Res Poang | Par Kontr ut Res Poang | Par Kontr ut Res Poang
107 6NS= 9vA 1440 8.00.0| 25 3NO-1 49 100 6.020| 61 3#V-2 ¢J 200 8.00.0(|108 4v N+2 T 480 8.0 0.0
32 66 S= 421370 6.020| 61 3NV-1 «Q 100 6.020| 25 INV-1 6 100 404.0| 25 4v N+1 #4 450 4.04.0
14 5¢ N+1 vT 620 2060 79 2NO-1 ¢3 100 6.020( 79 INV-1 ¢J 100 404.0| 43 4v N+1 6 450 4.04.0
59 5¢ N+1 v5 620 206.0| 43 3¢ S-1 #0Q -50 2.06.0(108 14 O-1 ¢A 100 4040| 61 4vy N+1 #J 450 4.0 4.0
68 5¢ S+1 vA 620 206.0(108 INO= 2 -90 0.0 8.0| 43 Pass 008079 6vyN-2 vJ -100 0.0 8.0
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